Angles _ Name

Set up the unknowns
Set up the equation
Solve and answer the question

1. Two angles form a linear pair. One angle measures twenty less than four times the

other angle. Find the degrees in both angles.
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2. Two angles are complementary. QOne angle measures eighteen more than five
times the other angle. Find the degrees in both angles.
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3. The angles of a triangle are in the ratio of 1:2:7. Find the measures of the thiee.
angles,
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4. Two angles are supplementary. One angle measures seven times the other angle
less four. Find the measures of the angles.
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5. Find the measures of the three angles of triangie ABC if the measure of angle A is
equal to the measure of angle B.
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6. Angle ABC and angle MBT are vertical angles. Angle TBC and angie CBA form a
linear pair. Find the measures of the three angle if:

©I° measure of angle ABC = 2(5x - 3y) + 22

{ { &° measgure of angle ABM = -10 — 4(3x ~ 4y)

(@Q;G measure of angle MBT = 5x + 2(6y — 7x) ~ 34
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